Ratio to ALICE

QOQ Gevlpp

Soft QICD

T 10 E I I | T T T myy)
B — = c
o) — . 39
= - Cross section(Mx < 200 Ge\f) 13
o B —{x
o o
1= _E‘C_)'
= NI
- 1S
T . mhe
_1 | _m
10" E Ho
= 9>
L e
107 & 5
- 137
L 3
10 = 35 M
— J©
— —4 O
— — ™M
- mES
=
10" = m ALCE =%
—  --3-- Herwig 7.2.0 default <
— —&— Pythia 8.205 default : o=
107° &= -4--Sherpa-1.2:2p-default-- S 3
%)
©
o
(&)
S

-
>
o
I III|IIII|II||_+_ | |||||||_|‘

| ||||||||||||T1_ | |||||||'|‘

— ‘ p—
------------------------------------- T F------- e m

—0.5

900.5
sgrt{s} [GeV]



	Contents
	Page 1


